E Finite State Machine Example FSM
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ﬂ State Transition Table —This ene combines all of

the entries that wa hava reviewed
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- Summary

= Abslraction
« [Define a problem
Concepts / principles / processes
« Separation of policy and mechanisms
- Interfaces define what it does (policy)
- Implementations define how it
works (mechanisms)
= Finite State Machines Ml if Input is 1 or 3
+ Inputs [sensors)
« Qutputs (actuators)
« Controller
« Slate graph
- Slates

= Implementations define now it
works (mechanisms)
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